



City of Clearwater
Public Utilities
Richard Gardner, Department Director
100 South Myrtle Avenue, Clearwater, FL 33756

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

RESPONSE DEADLINE: August 27, 2025 at 2:00 pm

Report Generated: Tuesday, November 25, 2025

SELECTED VENDOR TOTALS

Vendor	Total
TLC Diversified, Inc.	\$41,661,290.50
Rowland DE LLC.	\$43,210,878.90
Razorback LLC	\$62,181,229.50

LIFT STATION POINT REPAIRS AND IMPROVEMENTS 25-0006-UT

All bid items, unless otherwise specified, shall be inclusive of furnishing all material and labor for the complete installation of the bid item, inclusive of any necessary removal. Installation shall be completed in accordance with the specifications. The quantities provided are estimated per year for bidding purposes and may vary based on the actual work throughout the duration of the contract. The City of Clearwater (City) is not obligated to purchase any minimum or maximum amount during the life of the contract. Unit costs for all bid items shall not be changed in the event of overruns or underruns. Mobilization shall be per work order as defined by the City. Each work order may include more than one individual project. The unit price for Mobilization shall not exceed \$3,000 for Non-Emergency Mobilization and \$5,000 for Emergency Mobilization. Emergency and Non-Emergency mobilization are further defined in the Contract Documents.

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Non-Emergency Mobilization/Demobilization & General Conditions (1) (Includes Group A, B and C) (3% of the Cost of the Work Performed NTE a Maximum of \$3,000)	20	EA	\$3,000.00	\$60,000.00	\$3,000.00	\$60,000.00	\$3,000.00	\$60,000.00
X	2	Emergency Mobilization/Demobilization & General Conditions (1) (Includes Group A, B and C) (5% of the Cost of the Work Performed NTE a Maximum of \$5,000)	6	EA	\$5,000.00	\$30,000.00	\$5,000.00	\$30,000.00	\$5,000.00	\$30,000.00
Bypass Pump Set Up / Demobilization & Maintenance (Labor and Materials)										
X	3a	8" to 12" Gravity Sewer Flow	70	DAY	\$2,000.00	\$140,000.00	\$1,600.00	\$112,000.00	\$1,500.00	\$105,000.00
X	3b	15" to 18" Gravity Sewer Flow	70	DAY	\$3,000.00	\$210,000.00	\$2,250.00	\$157,500.00	\$1,700.00	\$119,000.00
X	3c	24" Gravity Sewer Flow	20	WK	\$28,000.00	\$560,000.00	\$16,500.00	\$330,000.00	\$12,500.00	\$250,000.00
X	3d	30" Gravity Sewer Flow	20	WK	\$90,000.00	\$1,800,000.00	\$19,750.00	\$395,000.00	\$13,000.00	\$260,000.00
X	3e	36" Gravity Sewer Flow	20	WK	\$110,000.00	\$2,200,000.00	\$19,750.00	\$395,000.00	\$13,500.00	\$270,000.00
Maintenance of Traffic (*If not already included in Bid Items 4b-4f)										
X	4a	Flagman*	400	HR	\$65.00	\$26,000.00	\$50.00	\$20,000.00	\$60.00	\$24,000.00
X	4b	Multilane (FDOT Index No. 613)	70	EA/DAY	\$1,000.00	\$70,000.00	\$1,500.00	\$105,000.00	\$1,800.00	\$126,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	4c	Multilane (FDOT Index No. 614)	70	EA/DAY	\$1,100.00	\$77,000.00	\$750.00	\$52,500.00	\$1,800.00	\$126,000.00
X	4d	Multilane (FDOT Index No. 615)	70	EA/DAY	\$2,000.00	\$140,000.00	\$750.00	\$52,500.00	\$1,800.00	\$126,000.00
X	4e	Multilane (FDOT Index No. 616)	70	EA/DAY	\$1,000.00	\$70,000.00	\$750.00	\$52,500.00	\$1,800.00	\$126,000.00
X	4f	Multilane (FDOT Index No. 617)	70	EA/DAY	\$2,000.00	\$140,000.00	\$750.00	\$52,500.00	\$1,800.00	\$126,000.00
X	4g	Arrow Board - 5' Minimum Horizontal Size*	70	EA/DAY	\$40.00	\$2,800.00	\$137.00	\$9,590.00	\$28.00	\$1,960.00
X	4h	Variable Message Board*	70	EA/DAY	\$100.00	\$7,000.00	\$182.00	\$12,740.00	\$65.00	\$4,550.00
X	4i	Concrete Barrier (FDOT Index No. 415)*	70	EA/DAY	\$9.00	\$630.00	\$500.00	\$35,000.00	\$30.00	\$2,100.00
X	4j	Low Profile Barrier (FDOT Index No. 412)*	70	EA/DAY	\$9.00	\$630.00	\$500.00	\$35,000.00	\$25.00	\$1,750.00
X	4k	Sign in Work Zone*	70	EA/DAY	\$1.00	\$70.00	\$4.00	\$280.00	\$2.00	\$140.00
X	4l	FDOT Cone*	70	EA/DAY	\$0.75	\$52.50	\$3.50	\$245.00	\$2.00	\$140.00
X	4m	FDOT Channelizing Drum*	70	EA/DAY	\$0.75	\$52.50	\$3.50	\$245.00	\$2.00	\$140.00
X	4n	Barricade, Type III with Warning Light*	70	EA/DAY	\$2.00	\$140.00	\$5.00	\$350.00	\$5.00	\$350.00
X	4o	Barricade, Type I or II with Warning Light*	70	EA/DAY	\$1.00	\$70.00	\$4.00	\$280.00	\$2.00	\$140.00
Labor Hours (Labor hours and equipment - Bid Items (5 and 6) shall only be used where not already included in a Bid Item.)										

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	5a	Superintendent regular time (Includes vehicle)	400	HOUR	\$160.00	\$64,000.00	\$150.00	\$60,000.00	\$120.00	\$48,000.00
X	5b	Superintendent overtime (Includes vehicle)	60	HOUR	\$190.00	\$11,400.00	\$165.00	\$9,900.00	\$145.00	\$8,700.00
X	5c	Forman regular time	800	HOUR	\$150.00	\$120,000.00	\$125.00	\$100,000.00	\$85.00	\$68,000.00
X	5d	Forman overtime	120	HOUR	\$175.00	\$21,000.00	\$135.00	\$16,200.00	\$100.00	\$12,000.00
X	5e	Operator regular time	800	HOUR	\$88.00	\$70,400.00	\$110.00	\$88,000.00	\$65.00	\$52,000.00
X	5f	Operator overtime	120	HOUR	\$120.00	\$14,400.00	\$120.00	\$14,400.00	\$85.00	\$10,200.00
X	5g	Truck Driver regular time	800	HOUR	\$88.00	\$70,400.00	\$60.00	\$48,000.00	\$60.00	\$48,000.00
X	5h	Truck Driver overtime	120	HOUR	\$120.00	\$14,400.00	\$70.00	\$8,400.00	\$75.00	\$9,000.00
X	5i	Pipe Layer regular time	800	HOUR	\$90.00	\$72,000.00	\$100.00	\$80,000.00	\$70.00	\$56,000.00
X	5j	Pipe Layer overtime	120	HOUR	\$135.00	\$16,200.00	\$110.00	\$13,200.00	\$90.00	\$10,800.00
X	5k	Laborer regular time	800	HOUR	\$30.00	\$24,000.00	\$95.00	\$76,000.00	\$60.00	\$48,000.00
X	5l	Laborer overtime	120	HOUR	\$45.00	\$5,400.00	\$105.00	\$12,600.00	\$80.00	\$9,600.00
Equipment										
X	6a	Foreman's pickup truck with hand tools	920	HOUR	\$10.00	\$9,200.00	\$65.00	\$59,800.00	\$50.00	\$46,000.00
X	6b	Job truck with tools	920	HOUR	\$10.00	\$9,200.00	\$70.00	\$64,400.00	\$50.00	\$46,000.00
X	6c	Tractor & Trailer (Transport)	400	HOUR	\$200.00	\$80,000.00	\$80.00	\$32,000.00	\$50.00	\$20,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	6d	Track Hoe (to 100 HP)	400	HOUR	\$150.00	\$60,000.00	\$130.00	\$52,000.00	\$125.00	\$50,000.00
X	6e	Track Hoe (101 HP to 170 HP)	400	HOUR	\$190.00	\$76,000.00	\$140.00	\$56,000.00	\$125.00	\$50,000.00
X	6f	Track Hoe (171 HP and up)	400	HOUR	\$220.00	\$88,000.00	\$200.00	\$80,000.00	\$165.00	\$66,000.00
X	6g	Rubber Tired Backhoe	400	HOUR	\$150.00	\$60,000.00	\$40.00	\$16,000.00	\$100.00	\$40,000.00
X	6h	Wheel Loader (to 150 HP)	400	HOUR	\$150.00	\$60,000.00	\$90.00	\$36,000.00	\$75.00	\$30,000.00
X	6i	Wheel Loader (151 HP and up)	400	HOUR	\$180.00	\$72,000.00	\$100.00	\$40,000.00	\$85.00	\$34,000.00
X	6j	Track Type Tractors (to 100 HP)	400	HOUR	\$150.00	\$60,000.00	\$30.00	\$12,000.00	\$25.00	\$10,000.00
X	6k	Track Type Tractors (101 HP and up)	400	HOUR	\$170.00	\$68,000.00	\$32.00	\$12,800.00	\$26.00	\$10,400.00
X	6l	Dump Truck (Tandem Axle)	400	HOUR	\$100.00	\$40,000.00	\$80.00	\$32,000.00	\$90.00	\$36,000.00
X	6m	Plate Tamp	200	HOUR	\$40.00	\$8,000.00	\$15.00	\$3,000.00	\$20.00	\$4,000.00
X	6n	3" Trash Pump	200	HOUR	\$50.00	\$10,000.00	\$15.00	\$3,000.00	\$20.00	\$4,000.00
X	6o	4" Double Diaphragm Pump	200	HOUR	\$70.00	\$14,000.00	\$25.00	\$5,000.00	\$20.00	\$4,000.00
X	6p	Air Compressor (125 CFM min.)	200	HOUR	\$100.00	\$20,000.00	\$20.00	\$4,000.00	\$15.00	\$3,000.00
X	6q	4" Jet Pump	200	HOUR	\$75.00	\$15,000.00	\$30.00	\$6,000.00	\$35.00	\$7,000.00
X	6r	Emergency Hauling up to 2500 gallons	100	HOUR	\$190.00	\$19,000.00	\$550.00	\$55,000.00	\$300.00	\$30,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	6s	Emergency Hauling over 2500 gallons	100	HOUR	\$220.00	\$22,000.00	\$550.00	\$55,000.00	\$325.00	\$32,500.00
Landscaping/Restoration (Labor and Materials)										
X	7a	Seeding	1000	SF	\$3.00	\$3,000.00	\$0.10	\$100.00	\$1.00	\$1,000.00
X	7b	Sodding	1000	SF	\$10.00	\$10,000.00	\$3.00	\$3,000.00	\$2.25	\$2,250.00
Site Materials										
X	8a	3000 PSI Concrete with Concrete Additive (XYPEX)	100	CY	\$1,500.00	\$150,000.00	\$432.00	\$43,200.00	\$425.00	\$42,500.00
X	8b	Off Site Selected Fill	100	CY	\$400.00	\$40,000.00	\$36.00	\$3,600.00	\$30.00	\$3,000.00
X	8c	# 57 Washed Stone	50	TON	\$550.00	\$27,500.00	\$65.00	\$3,250.00	\$85.00	\$4,250.00
X	8d	Removal of Unsuitable Soil	50	TON	\$450.00	\$22,500.00	\$65.00	\$3,250.00	\$30.00	\$1,500.00
X	8e	Rip Rap	50	TON	\$600.00	\$30,000.00	\$276.00	\$13,800.00	\$200.00	\$10,000.00
X	8f	Flowable Fill	100	CY	\$1,200.00	\$120,000.00	\$276.00	\$27,600.00	\$225.00	\$22,500.00
X	8g	Misc. Concrete Removal	100	CY	\$800.00	\$80,000.00	\$250.00	\$25,000.00	\$165.00	\$16,500.00
Well Point Dewatering (Labor and Materials)										
X	9	Well Point Dewatering	3000	LF/DAY	\$70.00	\$210,000.00	\$20.00	\$60,000.00	\$50.00	\$150,000.00
Wet Well Misc. Rehabilitation (Labor and Materials)										
X	10a	Wet Well Fillet Repair for 6' dia.	10	EA	\$1,800.00	\$18,000.00	\$550.00	\$5,500.00	\$2,100.00	\$21,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	10b	Wet Well Fillet Repair for 8' dia.	10	EA	\$2,200.00	\$22,000.00	\$825.00	\$8,250.00	\$2,500.00	\$25,000.00
X	10c	Wet Well Fillet Repair for 10' dia.	10	EA	\$3,000.00	\$30,000.00	\$1,100.00	\$11,000.00	\$3,200.00	\$32,000.00
X	10d	Wet Well Fillet Replacement for 6' dia.	10	EA	\$1,900.00	\$19,000.00	\$2,500.00	\$25,000.00	\$5,500.00	\$55,000.00
X	10e	Wet Well Fillet Replacement for 8' dia.	10	EA	\$3,000.00	\$30,000.00	\$3,800.00	\$38,000.00	\$6,800.00	\$68,000.00
X	10f	Wet Well Fillet Replacement for 10' dia.	10	EA	\$4,000.00	\$40,000.00	\$6,000.00	\$60,000.00	\$7,900.00	\$79,000.00
X	10g	Injection grouting as required to stop Infiltration and Inflow	1000	GAL	\$100.00	\$100,000.00	\$165.00	\$165,000.00	\$225.00	\$225,000.00
X	10h	Vac Truck	100	HR	\$300.00	\$30,000.00	\$295.00	\$29,500.00	\$425.00	\$42,500.00
X	10i	Vac Truck	70	Day	\$3,000.00	\$210,000.00	\$3,500.00	\$245,000.00	\$1,500.00	\$105,000.00
X	10j	Vac Truck	40	Week	\$15,000.00	\$600,000.00	\$17,500.00	\$700,000.00	\$4,000.00	\$160,000.00
X	10k	Remove existing liner for 6' diameter wet well	250	VF	\$400.00	\$100,000.00	\$457.00	\$114,250.00	\$850.00	\$212,500.00
X	10l	Remove existing liner for 8' diameter wet well	250	VF	\$500.00	\$125,000.00	\$611.00	\$152,750.00	\$1,150.00	\$287,500.00
X	10m	Remove existing liner for 10' diameter wet well	250	VF	\$700.00	\$175,000.00	\$759.00	\$189,750.00	\$1,425.00	\$356,250.00
Manhole Surfacing (Polyurethane) - Manhole Coating Product: Sprayroq (Labor and Materials)										

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	11a	Liner system for 6' diameter wet well -125 MILS	300	VF	\$400.00	\$120,000.00	\$1,139.00	\$341,700.00	\$1,255.00	\$376,500.00
X	11b	Liner System for 6' diameter wet well -250 MILS	300	VF	\$800.00	\$240,000.00	\$1,348.00	\$404,400.00	\$1,500.00	\$450,000.00
X	11c	Liner system for 8'diameter wet well -125 MILS	300	VF	\$450.00	\$135,000.00	\$1,518.00	\$455,400.00	\$1,665.00	\$499,500.00
X	11d	Liner System for 8' diameter wet well -250 MILS	300	VF	\$800.00	\$240,000.00	\$1,799.00	\$539,700.00	\$2,000.00	\$600,000.00
X	11e	Liner system for 10'diameter wet well -125 MILS	300	VF	\$500.00	\$150,000.00	\$1,900.00	\$570,000.00	\$1,750.00	\$525,000.00
X	11f	Liner System for 10' diameter wet well -250 MILS	300	VF	\$800.00	\$240,000.00	\$2,244.00	\$673,200.00	\$2,080.00	\$624,000.00
Clean and TV Sewer Pipe										
X	12a	2"-6"	500	LF	\$50.00	\$25,000.00	\$12.00	\$6,000.00	\$40.00	\$20,000.00
X	12b	8"-12"	500	LF	\$70.00	\$35,000.00	\$12.00	\$6,000.00	\$60.00	\$30,000.00
X	12c	16"-24"	500	LF	\$100.00	\$50,000.00	\$12.00	\$6,000.00	\$90.00	\$45,000.00
X	12d	>30"	500	LF	\$200.00	\$100,000.00	\$12.00	\$6,000.00	\$92.00	\$46,000.00
Grout Fill and Abandon Pipe										
X	13a	2"-6"	500	LF	\$50.00	\$25,000.00	\$18.00	\$9,000.00	\$25.00	\$12,500.00
X	13b	8"-12"	500	LF	\$70.00	\$35,000.00	\$19.50	\$9,750.00	\$40.00	\$20,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	13c	16"-24"	500	LF	\$80.00	\$40,000.00	\$24.00	\$12,000.00	\$50.00	\$25,000.00
X	13d	>30"	500	LF	\$120.00	\$60,000.00	\$60.00	\$30,000.00	\$65.00	\$32,500.00
Remove Abandoned Pipe										
X	14a	2"-6"	500	LF	\$100.00	\$50,000.00	\$26.50	\$13,250.00	\$35.00	\$17,500.00
X	14b	8"-12"	500	LF	\$200.00	\$100,000.00	\$35.00	\$17,500.00	\$50.00	\$25,000.00
X	14c	16"-24"	500	LF	\$300.00	\$150,000.00	\$53.00	\$26,500.00	\$70.00	\$35,000.00
X	14d	>30"	500	LF	\$370.00	\$185,000.00	\$70.50	\$35,250.00	\$86.00	\$43,000.00
Plug Valves (Labor and Materials)										
X	15a	4"	20	EA	\$10,000.00	\$200,000.00	\$3,439.00	\$68,780.00	\$2,800.00	\$56,000.00
X	15b	6"	20	EA	\$11,000.00	\$220,000.00	\$4,236.00	\$84,720.00	\$3,500.00	\$70,000.00
X	15c	8"	20	EA	\$12,000.00	\$240,000.00	\$5,533.00	\$110,660.00	\$4,500.00	\$90,000.00
X	15d	10"	20	EA	\$14,000.00	\$280,000.00	\$7,660.00	\$153,200.00	\$6,800.00	\$136,000.00
X	15e	12"	20	EA	\$15,000.00	\$300,000.00	\$9,680.00	\$193,600.00	\$7,800.00	\$156,000.00
X	15f	14"	10	EA	\$17,000.00	\$170,000.00	\$13,713.00	\$137,130.00	\$8,500.00	\$85,000.00
X	15g	16"	10	EA	\$19,000.00	\$190,000.00	\$16,962.00	\$169,620.00	\$13,300.00	\$133,000.00
X	15h	18"	10	EA	\$24,000.00	\$240,000.00	\$21,826.00	\$218,260.00	\$15,000.00	\$150,000.00
X	15i	20"	10	EA	\$38,000.00	\$380,000.00	\$30,016.00	\$300,160.00	\$20,000.00	\$200,000.00
X	15j	24"	6	EA	\$66,000.00	\$396,000.00	\$59,346.00	\$356,076.00	\$40,000.00	\$240,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	15k	30"	2	EA	\$110,000.00	\$220,000.00	\$107,699.00	\$215,398.00	\$70,000.00	\$140,000.00
Gate Valves (Labor and Materials)										
X	16a	4"	20	EA	\$7,000.00	\$140,000.00	\$2,659.00	\$53,180.00	\$1,700.00	\$34,000.00
X	16b	6"	20	EA	\$9,000.00	\$180,000.00	\$3,148.00	\$62,960.00	\$2,200.00	\$44,000.00
X	16c	8"	20	EA	\$11,000.00	\$220,000.00	\$4,219.00	\$84,380.00	\$3,000.00	\$60,000.00
X	16d	10"	20	EA	\$13,000.00	\$260,000.00	\$6,075.00	\$121,500.00	\$4,000.00	\$80,000.00
X	16e	12"	20	EA	\$14,000.00	\$280,000.00	\$7,389.00	\$147,780.00	\$5,000.00	\$100,000.00
X	16f	14"	10	EA	\$19,000.00	\$190,000.00	\$15,188.00	\$151,880.00	\$10,500.00	\$105,000.00
X	16g	16"	10	EA	\$22,000.00	\$220,000.00	\$14,801.00	\$148,010.00	\$11,000.00	\$110,000.00
X	16h	18"	10	EA	\$30,000.00	\$300,000.00	\$24,987.00	\$249,870.00	\$16,000.00	\$160,000.00
X	16i	20"	10	EA	\$70,000.00	\$700,000.00	\$27,601.00	\$276,010.00	\$19,500.00	\$195,000.00
X	16j	24"	6	EA	\$90,000.00	\$540,000.00	\$37,917.00	\$227,502.00	\$26,000.00	\$156,000.00
X	16k	30"	2	EA	\$100,000.00	\$200,000.00	\$79,769.00	\$159,538.00	\$54,000.00	\$108,000.00
Check Valves (Labor and Materials)										
X	17a	4"	20	EA	\$8,000.00	\$160,000.00	\$3,691.00	\$73,820.00	\$3,000.00	\$60,000.00
X	17b	6"	20	EA	\$9,000.00	\$180,000.00	\$4,807.00	\$96,140.00	\$4,800.00	\$96,000.00
X	17c	8"	20	EA	\$11,000.00	\$220,000.00	\$6,551.00	\$131,020.00	\$6,500.00	\$130,000.00
X	17d	10"	20	EA	\$13,000.00	\$260,000.00	\$9,870.00	\$197,400.00	\$7,500.00	\$150,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	17e	12"	20	EA	\$16,000.00	\$320,000.00	\$17,371.00	\$347,420.00	\$12,000.00	\$240,000.00
X	17f	14"	10	EA	\$20,000.00	\$200,000.00	\$22,070.00	\$220,700.00	\$14,500.00	\$145,000.00
X	17g	16"	10	EA	\$24,000.00	\$240,000.00	\$29,486.00	\$294,860.00	\$18,500.00	\$185,000.00
X	17h	18"	10	EA	\$28,000.00	\$280,000.00	\$36,407.00	\$364,070.00	\$23,000.00	\$230,000.00
X	17i	20"	10	EA	\$32,000.00	\$320,000.00	\$42,645.00	\$426,450.00	\$27,000.00	\$270,000.00
X	17j	24"	6	EA	\$33,000.00	\$198,000.00	\$72,493.00	\$434,958.00	\$49,000.00	\$294,000.00
X	17k	30"	2	EA	\$39,000.00	\$78,000.00	\$101,348.00	\$202,696.00	\$69,000.00	\$138,000.00
Ductile Iron Pipe Protecto 401 Ceramic Epoxy Lined (LF or VF) (Labor, Materials and Associated Restraints)										
X	18a	4"	250	LF	\$600.00	\$150,000.00	\$335.00	\$83,750.00	\$175.00	\$43,750.00
X	18b	6"	250	LF	\$650.00	\$162,500.00	\$353.00	\$88,250.00	\$180.00	\$45,000.00
X	18c	8"	250	LF	\$670.00	\$167,500.00	\$406.00	\$101,500.00	\$185.00	\$46,250.00
X	18d	10"	250	LF	\$1,710.00	\$427,500.00	\$500.00	\$125,000.00	\$190.00	\$47,500.00
X	18e	12"	250	LF	\$1,800.00	\$450,000.00	\$665.00	\$166,250.00	\$215.00	\$53,750.00
X	18f	14"	125	LF	\$1,900.00	\$237,500.00	\$897.00	\$112,125.00	\$260.00	\$32,500.00
X	18g	16"	125	LF	\$2,000.00	\$250,000.00	\$1,011.00	\$126,375.00	\$270.00	\$33,750.00
X	18h	18"	125	LF	\$3,000.00	\$375,000.00	\$1,146.00	\$143,250.00	\$320.00	\$40,000.00
X	18i	20"	125	LF	\$2,100.00	\$262,500.00	\$1,168.00	\$146,000.00	\$330.00	\$41,250.00
X	18j	24"	125	LF	\$2,900.00	\$362,500.00	\$1,463.00	\$182,875.00	\$420.00	\$52,500.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	18k	30"	125	LF	\$3,200.00	\$400,000.00	\$2,004.00	\$250,500.00	\$550.00	\$68,750.00
Ductile Iron 90 Degree Fittings (Labor, Materials and Associated Restraints)										
X	19a	4"	20	EA	\$2,000.00	\$40,000.00	\$2,051.00	\$41,020.00	\$1,400.00	\$28,000.00
X	19b	6"	20	EA	\$3,000.00	\$60,000.00	\$2,683.00	\$53,660.00	\$1,600.00	\$32,000.00
X	19c	8"	20	EA	\$5,000.00	\$100,000.00	\$3,426.00	\$68,520.00	\$2,300.00	\$46,000.00
X	19d	10"	20	EA	\$6,000.00	\$120,000.00	\$4,686.00	\$93,720.00	\$3,100.00	\$62,000.00
X	19e	12"	20	EA	\$7,000.00	\$140,000.00	\$5,819.00	\$116,380.00	\$3,500.00	\$70,000.00
X	19f	14"	10	EA	\$8,000.00	\$80,000.00	\$7,386.00	\$73,860.00	\$4,500.00	\$45,000.00
X	19g	16"	10	EA	\$9,000.00	\$90,000.00	\$8,600.00	\$86,000.00	\$5,700.00	\$57,000.00
X	19h	18"	10	EA	\$12,000.00	\$120,000.00	\$10,961.00	\$109,610.00	\$7,500.00	\$75,000.00
X	19i	20"	10	EA	\$20,000.00	\$200,000.00	\$13,202.00	\$132,020.00	\$9,000.00	\$90,000.00
X	19j	24"	10	EA	\$25,000.00	\$250,000.00	\$19,002.00	\$190,020.00	\$13,000.00	\$130,000.00
X	19k	30"	10	EA	\$30,000.00	\$300,000.00	\$32,996.00	\$329,960.00	\$20,000.00	\$200,000.00
Ductile Iron 45 Degree Fittings (Labor, Materials and Associated Restraints)										
X	20a	4"	20	EA	\$2,000.00	\$40,000.00	\$2,009.00	\$40,180.00	\$1,300.00	\$26,000.00
X	20b	6"	20	EA	\$3,000.00	\$60,000.00	\$2,569.00	\$51,380.00	\$1,500.00	\$30,000.00
X	20c	8"	20	EA	\$5,000.00	\$100,000.00	\$3,212.00	\$64,240.00	\$2,000.00	\$40,000.00
X	20d	10"	20	EA	\$6,000.00	\$120,000.00	\$4,302.00	\$86,040.00	\$2,200.00	\$44,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	20e	12"	20	EA	\$7,000.00	\$140,000.00	\$5,193.00	\$103,860.00	\$2,900.00	\$58,000.00
X	20f	14"	10	EA	\$8,000.00	\$80,000.00	\$6,571.00	\$65,710.00	\$3,500.00	\$35,000.00
X	20g	16"	10	EA	\$9,000.00	\$90,000.00	\$7,561.00	\$75,610.00	\$4,500.00	\$45,000.00
X	20h	18"	10	EA	\$12,000.00	\$120,000.00	\$9,642.00	\$96,420.00	\$6,800.00	\$68,000.00
X	20i	20"	10	EA	\$20,000.00	\$200,000.00	\$11,841.00	\$118,410.00	\$8,500.00	\$85,000.00
X	20j	24"	10	EA	\$25,000.00	\$250,000.00	\$14,999.00	\$149,990.00	\$10,000.00	\$100,000.00
X	20k	30"	10	EA	\$30,000.00	\$300,000.00	\$29,775.00	\$297,750.00	\$20,000.00	\$200,000.00
316L Stainless Steel SCH 40 Flanged Riser (LF or VF) (Labor and Materials)										
X	21a	4"	250	LF	\$1,200.00	\$300,000.00	\$475.00	\$118,750.00	\$350.00	\$87,500.00
X	21b	6"	250	LF	\$1,500.00	\$375,000.00	\$689.00	\$172,250.00	\$490.00	\$122,500.00
X	21c	8"	250	LF	\$1,900.00	\$475,000.00	\$1,368.00	\$342,000.00	\$1,000.00	\$250,000.00
X	21d	10"	250	LF	\$2,500.00	\$625,000.00	\$1,513.00	\$378,250.00	\$1,100.00	\$275,000.00
X	21e	12"	250	LF	\$5,000.00	\$1,250,000.00	\$1,896.00	\$474,000.00	\$1,300.00	\$325,000.00
HDPE (LF or VF) (Labor and Materials)										
X	22a	4"	250	LF	\$800.00	\$200,000.00	\$97.00	\$24,250.00	\$55.00	\$13,750.00
X	22b	6"	250	LF	\$850.00	\$212,500.00	\$99.00	\$24,750.00	\$65.00	\$16,250.00
X	22c	8"	250	LF	\$900.00	\$225,000.00	\$105.00	\$26,250.00	\$75.00	\$18,750.00
X	22d	10"	250	LF	\$1,000.00	\$250,000.00	\$118.00	\$29,500.00	\$85.00	\$21,250.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	22e	12"	250	LF	\$1,100.00	\$275,000.00	\$132.00	\$33,000.00	\$100.00	\$25,000.00
X	22f	14"	125	LF	\$1,200.00	\$150,000.00	\$159.00	\$19,875.00	\$120.00	\$15,000.00
X	22g	16"	125	LF	\$1,300.00	\$162,500.00	\$181.00	\$22,625.00	\$140.00	\$17,500.00
X	22h	18"	125	LF	\$1,500.00	\$187,500.00	\$203.00	\$25,375.00	\$185.00	\$23,125.00
X	22i	20"	125	LF	\$1,700.00	\$212,500.00	\$267.00	\$33,375.00	\$200.00	\$25,000.00
X	22j	24"	125	LF	\$1,800.00	\$225,000.00	\$329.00	\$41,125.00	\$260.00	\$32,500.00
X	22k	30"	125	LF	\$1,900.00	\$237,500.00	\$437.00	\$54,625.00	\$370.00	\$46,250.00
PVC (LF or VF) (Labor and Materials)										
X	23a	2"	250	LF	\$500.00	\$125,000.00	\$82.00	\$20,500.00	\$25.00	\$6,250.00
X	23b	4"	250	LF	\$700.00	\$175,000.00	\$90.00	\$22,500.00	\$50.00	\$12,500.00
X	23c	6"	250	LF	\$900.00	\$225,000.00	\$101.00	\$25,250.00	\$55.00	\$13,750.00
X	23d	8"	250	LF	\$1,500.00	\$375,000.00	\$117.00	\$29,250.00	\$70.00	\$17,500.00
X	23e	10"	250	LF	\$1,600.00	\$400,000.00	\$137.00	\$34,250.00	\$90.00	\$22,500.00
X	23f	12"	250	LF	\$1,700.00	\$425,000.00	\$159.00	\$39,750.00	\$105.00	\$26,250.00
X	23g	14"	125	LF	\$1,800.00	\$225,000.00	\$168.00	\$21,000.00	\$115.00	\$14,375.00
X	23h	16"	125	LF	\$1,900.00	\$237,500.00	\$193.00	\$24,125.00	\$135.00	\$16,875.00
X	23i	18"	125	LF	\$2,000.00	\$250,000.00	\$222.00	\$27,750.00	\$155.00	\$19,375.00
X	23j	20"	125	LF	\$2,100.00	\$262,500.00	\$291.00	\$36,375.00	\$185.00	\$23,125.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	23k	24"	125	LF	\$2,200.00	\$275,000.00	\$336.00	\$42,000.00	\$250.00	\$31,250.00
X	23l	30"	125	LF	\$2,300.00	\$287,500.00	\$502.00	\$62,750.00	\$350.00	\$43,750.00
GROUP B: LIFT STATION POINT REPAIRS AND IMPROVEMENTS (ELECTRICAL CONTRACTOR)										
X	1	Non-Emergency Mobilization/Demobilization & General Conditions (1) (3% of the Cost of the Work Performed NTE a Maximum of \$3,000) Included in Group A: Lift Station Point Repairs and Improvements (General Contractor)	0	EA	\$3,000.00	\$0.00	\$3,000.00	\$0.00	\$3,000.00	\$0.00
X	2	Emergency Mobilization/Demobilization & General Conditions (1) (5% of the Cost of the Work Performed NTE a Maximum of \$5,000) Included in Group A: Lift Station Point Repairs and Improvements (General Contractor)	0	EA	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00
Labor Hours (Labor hours and equipment Bid Items 3 and 4 shall only be used where not already included in a Bid Item.)										
X	3a	Superintendent regular time (Includes vehicle)	400	HOUR	\$200.00	\$80,000.00	\$213.00	\$85,200.00	\$110.00	\$44,000.00
X	3b	Superintendent overtime (Includes vehicle)	60	HOUR	\$220.00	\$13,200.00	\$205.00	\$12,300.00	\$150.00	\$9,000.00
X	3c	Master Electrician regular time	800	HOUR	\$180.00	\$144,000.00	\$140.00	\$112,000.00	\$150.00	\$120,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	3d	Master Electrician overtime	120	HOUR	\$220.00	\$26,400.00	\$210.00	\$25,200.00	\$225.00	\$27,000.00
X	3e	Journeyman Electrician regular time	800	HOUR	\$120.00	\$96,000.00	\$137.00	\$109,600.00	\$120.00	\$96,000.00
X	3f	Journeyman Electrician overtime	120	HOUR	\$180.00	\$21,600.00	\$205.00	\$24,600.00	\$170.00	\$20,400.00
X	3g	Apprentice Electrician regular time	800	HOUR	\$50.00	\$40,000.00	\$105.00	\$84,000.00	\$106.00	\$84,800.00
X	3h	Apprentice Electrician overtime	120	HOUR	\$75.00	\$9,000.00	\$157.00	\$18,840.00	\$150.00	\$18,000.00
X	3i	Field Service Technician regular time	800	HOUR	\$200.00	\$160,000.00	\$140.00	\$112,000.00	\$150.00	\$120,000.00
X	3j	Field Service Technician overtime	120	HOUR	\$220.00	\$26,400.00	\$210.00	\$25,200.00	\$225.00	\$27,000.00
X	3k	Instrumentation and Controls Technician regular time	800	HOUR	\$200.00	\$160,000.00	\$170.00	\$136,000.00	\$190.00	\$152,000.00
X	3l	Instrumentation and Controls Technician overtime	120	HOUR	\$220.00	\$26,400.00	\$255.00	\$30,600.00	\$213.00	\$25,560.00
Equipment										
X	4a	Master Electrician's job truck with tools	920	HOUR	\$15.00	\$13,800.00	\$167.00	\$153,640.00	\$65.00	\$59,800.00
X	4b	Job truck with tools	920	HOUR	\$20.00	\$18,400.00	\$27.00	\$24,840.00	\$65.00	\$59,800.00
Disconnects (Includes Labor and Materials)										

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	5a	Square D 60 Amp	20	EA	\$1,000.00	\$20,000.00	\$1,680.00	\$33,600.00	\$11,000.00	\$220,000.00
X	5b	Square D 100 Amp	20	EA	\$2,000.00	\$40,000.00	\$2,241.00	\$44,820.00	\$13,500.00	\$270,000.00
X	5c	Square D 200 Amp	20	EA	\$6,000.00	\$120,000.00	\$3,116.00	\$62,320.00	\$20,000.00	\$400,000.00
X	5d	Square D 250 Amp	10	EA	\$12,000.00	\$120,000.00	\$6,935.00	\$69,350.00	\$20,000.00	\$200,000.00
X	5e	Square D 400 Amp	10	EA	\$20,000.00	\$200,000.00	\$6,935.00	\$69,350.00	\$20,500.00	\$205,000.00
X	5f	Square D 800 Amp	10	EA	\$35,000.00	\$350,000.00	\$18,463.00	\$184,630.00	\$23,000.00	\$230,000.00
Breakers (Includes Labor and Materials)										
X	6a	Square D 15 Amp	20	EA	\$1,000.00	\$20,000.00	\$3,377.00	\$67,540.00	\$2,350.00	\$47,000.00
X	6b	Square D 20 Amp	20	EA	\$2,000.00	\$40,000.00	\$3,377.00	\$67,540.00	\$2,350.00	\$47,000.00
X	6c	Square D 25 Amp	20	EA	\$2,500.00	\$50,000.00	\$3,377.00	\$67,540.00	\$2,800.00	\$56,000.00
X	6d	Square D 30 Amp	20	EA	\$2,700.00	\$54,000.00	\$3,377.00	\$67,540.00	\$2,800.00	\$56,000.00
X	6e	Square D 35 Amp	20	EA	\$2,900.00	\$58,000.00	\$3,377.00	\$67,540.00	\$2,900.00	\$58,000.00
X	6f	Square D 40 Amp	20	EA	\$3,000.00	\$60,000.00	\$3,377.00	\$67,540.00	\$3,350.00	\$67,000.00
X	6g	Square D 45 Amp	20	EA	\$3,500.00	\$70,000.00	\$3,377.00	\$67,540.00	\$3,350.00	\$67,000.00
X	6h	Square D 50 Amp	20	EA	\$3,500.00	\$70,000.00	\$3,377.00	\$67,540.00	\$4,000.00	\$80,000.00
X	6i	Square D 60 Amp	20	EA	\$4,000.00	\$80,000.00	\$3,475.00	\$69,500.00	\$4,000.00	\$80,000.00
X	6j	Square D 70 Amp	20	EA	\$5,000.00	\$100,000.00	\$3,845.00	\$76,900.00	\$4,800.00	\$96,000.00
X	6k	Square D 80 Amp	20	EA	\$5,500.00	\$110,000.00	\$3,845.00	\$76,900.00	\$4,800.00	\$96,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	6l	Square D 90 Amp	20	EA	\$6,000.00	\$120,000.00	\$3,845.00	\$76,900.00	\$5,800.00	\$116,000.00
X	6m	Square D 100 Amp	20	EA	\$6,800.00	\$136,000.00	\$3,845.00	\$76,900.00	\$5,800.00	\$116,000.00
X	6n	Square D 110 Amp	10	EA	\$7,000.00	\$70,000.00	\$9,292.00	\$92,920.00	\$6,900.00	\$69,000.00
X	6o	Square D 125 Amp	10	EA	\$7,500.00	\$75,000.00	\$9,292.00	\$92,920.00	\$7,100.00	\$71,000.00
X	6p	Square D 200 Amp	10	EA	\$9,000.00	\$90,000.00	\$9,746.00	\$97,460.00	\$7,600.00	\$76,000.00
X	6q	Square D 250 Amp	10	EA	\$10,000.00	\$100,000.00	\$10,270.00	\$102,700.00	\$8,300.00	\$83,000.00
VFD's (480 - 3 Phase) (Includes Labor and Materials)										
X	7a	LS #42 - 40 HP / 58 A / 480 Volt - Yaskawa PW4A0058FAA	4	EA	\$20,000.00	\$80,000.00	\$11,195.00	\$44,780.00	\$24,000.00	\$96,000.00
X	7b	LS #45 - 125 HP / 165 A / 480 Volt - Yaskawa PW4A0165FAA	4	EA	\$38,000.00	\$152,000.00	\$22,520.00	\$90,080.00	\$35,000.00	\$140,000.00
X	7c	LS #16 - 125 HP / 165 A / 480 Volt - Yaskawa PW4A0165FAA	4	EA	\$40,000.00	\$160,000.00	\$22,520.00	\$90,080.00	\$36,000.00	\$144,000.00
X	7d	LS #58 - 200 HP / 250 A / 480 Volt - Yaskawa PW4A0250AAA	4	EA	\$51,000.00	\$204,000.00	\$28,400.00	\$113,600.00	\$50,000.00	\$200,000.00
Soft Starters (480 - 3 Phase) (Includes Labor and Materials)										
X	8a	25 HP to 50 HP Solcon RVS-DX-72	10	EA	\$9,000.00	\$90,000.00	\$2,650.00	\$26,500.00	\$11,000.00	\$110,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	8b	60 HP to 75 HP Solcon RVS-DX-105	10	EA	\$15,000.00	\$150,000.00	\$3,205.00	\$32,050.00	\$13,100.00	\$131,000.00
X	8c	50 HP to 100 HP Solcon RVS-DX-145	10	EA	\$18,000.00	\$180,000.00	\$3,900.00	\$39,000.00	\$21,000.00	\$210,000.00
Motor Starters (480 Volt or 230 Volt - 3 Phase) (Includes Labor and Materials)										
X	9a	Allen Bradley NEMA 0	20	EA	\$3,000.00	\$60,000.00	\$2,279.00	\$45,580.00	\$11,500.00	\$230,000.00
X	9b	Allen Bradley NEMA 1	20	EA	\$5,000.00	\$100,000.00	\$2,320.00	\$46,400.00	\$14,000.00	\$280,000.00
X	9c	Allen Bradley NEMA 2	20	EA	\$7,000.00	\$140,000.00	\$3,518.00	\$70,360.00	\$18,000.00	\$360,000.00
X	9d	Allen Bradley NEMA 3	10	EA	\$13,000.00	\$130,000.00	\$5,090.00	\$50,900.00	\$20,000.00	\$200,000.00
X	9e	Allen Bradley NEMA 4	10	EA	\$21,000.00	\$210,000.00	\$10,245.00	\$102,450.00	\$22,500.00	\$225,000.00
X	9f	Square D NEMA 0	20	EA	\$3,000.00	\$60,000.00	\$2,280.00	\$45,600.00	\$11,170.00	\$223,400.00
X	9g	Square D NEMA 1	20	EA	\$5,000.00	\$100,000.00	\$2,319.00	\$46,380.00	\$14,000.00	\$280,000.00
X	9h	Square D NEMA 2	20	EA	\$6,000.00	\$120,000.00	\$3,518.00	\$70,360.00	\$16,500.00	\$330,000.00
X	9i	Square D NEMA 3	10	EA	\$14,000.00	\$140,000.00	\$5,090.00	\$50,900.00	\$19,000.00	\$190,000.00
X	9j	Square D NEMA 4	10	EA	\$20,000.00	\$200,000.00	\$10,245.00	\$102,450.00	\$21,500.00	\$215,000.00
Controller (Includes Labor and Materials)										
X	10a	Data Flow Systems (DFS) 00540-008	10	EA	\$20,000.00	\$200,000.00	\$10,000.00	\$100,000.00	\$27,000.00	\$270,000.00
X	10b	Data Flow Systems (DFS) 00367-008	10	EA	\$16,000.00	\$160,000.00	\$10,000.00	\$100,000.00	\$30,000.00	\$300,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	10c	EMC Model SEL70B2	10	EA	\$15,000.00	\$150,000.00	\$11,500.00	\$115,000.00	\$19,500.00	\$195,000.00
Generator Connection Box with Camlocks										
X	11	Generator Connection Box with Camlocks	50	EA	\$7,000.00	\$350,000.00	\$42,730.00	\$2,136,500.00	\$37,000.00	\$1,850,000.00
GROUP C: LIFT STATION POINT REPAIRS AND IMPROVEMENTS (MECHANICAL CONTRACTOR)										
X	1	Non-Emergency Mobilization/Demobilization & General Conditions (1) (3% of the Cost of the Work Performed NTE a Maximum of \$3,000) Included in Group A: Lift Station Point Repairs and Improvements (General Contractor)	0	EA	\$3,000.00	\$0.00	\$3,000.00	\$0.00	\$3,000.00	\$0.00
X	2	Emergency Mobilization/Demobilization & General Conditions (1) (5% of the Cost of the Work Performed NTE a Maximum of \$5,000) Included in Group A: Lift Station Point Repairs and Improvements (General Contractor)	0	EA	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00
Labor Hours. (Labor hours and equipment Bid Items (3 and 4) shall only be used where not already included in a Bid Item.)										
X	3a	Superintendent regular time (Includes vehicle)	400	HOUR	\$200.00	\$80,000.00	\$150.00	\$60,000.00	\$140.00	\$56,000.00
X	3b	Superintendent overtime (Includes vehicle)	60	HOUR	\$220.00	\$13,200.00	\$165.00	\$9,900.00	\$165.00	\$9,900.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	3c	Pump Technician regular time	800	HOUR	\$200.00	\$160,000.00	\$217.00	\$173,600.00	\$105.00	\$84,000.00
X	3d	Pump Technician overtime	120	HOUR	\$220.00	\$26,400.00	\$336.00	\$40,320.00	\$125.00	\$15,000.00
X	3e	Mechanical Technician regular time	800	HOUR	\$180.00	\$144,000.00	\$217.00	\$173,600.00	\$80.00	\$64,000.00
X	3f	Mechanical Technician overtime	120	HOUR	\$200.00	\$24,000.00	\$336.00	\$40,320.00	\$100.00	\$12,000.00
X	3g	Plumber regular time	800	HOUR	\$140.00	\$112,000.00	\$217.00	\$173,600.00	\$90.00	\$72,000.00
X	3h	Plumber overtime	120	HOUR	\$180.00	\$21,600.00	\$336.00	\$40,320.00	\$95.00	\$11,400.00
X	3i	Laborer regular time	800	HOUR	\$40.00	\$32,000.00	\$95.00	\$76,000.00	\$55.00	\$44,000.00
X	3j	Laborer overtime	120	HOUR	\$60.00	\$7,200.00	\$105.00	\$12,600.00	\$85.00	\$10,200.00
Equipment										
X	4a	Pump Technician's job truck with tools	920	HOUR	\$20.00	\$18,400.00	\$167.00	\$153,640.00	\$50.00	\$46,000.00
X	4b	Job truck with tools	920	HOUR	\$20.00	\$18,400.00	\$27.00	\$24,840.00	\$50.00	\$46,000.00
Replacement of One Pump (480/230 Volts - 3 Phase) (Labor and Materials) (If actual HP at the Lift Station is different than shown round up to larger HP)										
X	5a	Flygt N Series - 5 HP or Less (480/230 Volts)	20	EA	\$20,000.00	\$400,000.00	\$17,716.00	\$354,320.00	\$17,000.00	\$340,000.00
X	5b	Flygt N Series - 7.5 HP (480/230 Volts)	20	EA	\$26,000.00	\$520,000.00	\$21,928.00	\$438,560.00	\$22,000.00	\$440,000.00
X	5c	Flygt N Series - 10 HP (480/230 Volts)	20	EA	\$27,000.00	\$540,000.00	\$22,282.00	\$445,640.00	\$23,000.00	\$460,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	5d	Flygt N Series - 15 HP (480/230 Volts)	20	EA	\$30,000.00	\$600,000.00	\$33,360.00	\$667,200.00	\$25,000.00	\$500,000.00
X	5e	Flygt N Series - 20 HP (480/230 Volts)	20	EA	\$50,000.00	\$1,000,000.00	\$39,565.00	\$791,300.00	\$41,000.00	\$820,000.00
X	5f	Flygt N Series - 25 HP (480 Volts)	10	EA	\$60,000.00	\$600,000.00	\$45,865.00	\$458,650.00	\$49,000.00	\$490,000.00
X	5g	Flygt N Series - 30 HP (480 Volts)	10	EA	\$70,000.00	\$700,000.00	\$50,877.00	\$508,770.00	\$55,000.00	\$550,000.00
X	5h	Flygt N Series - 35 HP (480 Volts)	10	EA	\$80,000.00	\$800,000.00	\$54,650.00	\$546,500.00	\$58,000.00	\$580,000.00
X	5i	Flygt N Series - 45 HP (480 Volts)	10	EA	\$82,000.00	\$820,000.00	\$59,372.00	\$593,720.00	\$65,000.00	\$650,000.00
X	5j	Flygt N Series - 50 HP (480 Volts)	10	EA	\$91,000.00	\$910,000.00	\$70,333.00	\$703,330.00	\$77,000.00	\$770,000.00
X	5k	Flygt N Series - 60 HP (480 Volts)	6	EA	\$120,000.00	\$720,000.00	\$86,573.00	\$519,438.00	\$85,000.00	\$510,000.00
X	5l	Flygt N Series - 85 HP (480 Volts)	6	EA	\$150,000.00	\$900,000.00	\$99,112.00	\$594,672.00	\$90,000.00	\$540,000.00
X	5m	Flygt N Series - 100 HP (480 Volts)	6	EA	\$200,000.00	\$1,200,000.00	\$148,114.00	\$888,684.00	\$150,000.00	\$900,000.00
X	5n	Flygt N Series - 160 HP (480 Volts)	6	EA	\$375,000.00	\$2,250,000.00	\$247,270.00	\$1,483,620.00	\$260,000.00	\$1,560,000.00
X	5o	Flygt N Series - 200 HP (480 Volts)	6	EA	\$490,000.00	\$2,940,000.00	\$300,642.00	\$1,803,852.00	\$300,000.00	\$1,800,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements

EVALUATION TABULATION

ITB No. 25-0006-UT

Lift Station Point Repairs and Improvements

Lift Station Point Repairs and Improvements 25-0006-UT					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
		Total				\$56,073,845.00		\$38,820,339.00		\$37,419,355.00

CITY CONTROLLED CONTINGENCY

Add 10% contingency based on subtotal of ALL lines in the Pricing Sheet above (Groups A, B and C, inclusive).

CITY CONTROLLED CONTINGENCY					Razorback LLC		Rowland DE LLC.		TLC Diversified, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	X.	City Controlled Contingency (10%)	1	LS	\$5,607,384.50	\$5,607,384.50	\$3,890,539.90	\$3,890,539.90	\$3,741,935.50	\$3,741,935.50
		Total				\$5,607,384.50		\$3,890,539.90		\$3,741,935.50

ANNUAL CITY-CONTROLLED ALLOWANCE FOR ITEMS (LABOR AND/OR MATERIALS) NOT INCLUDED IN GROUPS A, B AND C ABOVE.

Contractor Mark-up Not-To Exceed 10% will be negotiated for Identified Projects.

ANNUAL CITY-CONTROLLED ALLOWANCE FOR ITEMS (LABOR AND/OR MATERIALS) NOT INCLUDED IN GROUPS A, B AND C ABOVE.						Razorback LLC	Rowland DE LLC.	TLC Diversified, Inc.
Selected	Line Item	Description			Unit of Measure	Total	Total	Total
X	XX.	City Controlled Allowance Annually			Maximum Allowance	\$500,000.00	\$500,000.00	\$500,000.00
		Total				\$500,000.00	\$500,000.00	\$500,000.00

EVALUATION TABULATION

Invitation To Bid - Lift Station Point Repairs and Improvements